%6 1 EEEHFRKKGRAE
FERERBEKIKES

EB AR

#HENo. 48 BF 100m BHE RE 148 R ER 50. 66

_ _ KECER 51. 49
G  #/k I B K 4 S E-3 P FOER (RT.)

50m

1 /4% E kA B AR 06 $3 24.68 52.34 (0.72)
2 /3 X B #EB BEFE Kik 06 3 25.39 52.46 ( 0.63)
3 /7 & & E8BEKEHE =BA 06 3 25.08 52.47 ( 0.62)
4 /6 ® W EE BA FEINE= 06 ==K} 25.45 52.64 ( 0.70)
5 /2 8 W BiEBEKH =R+ 06 K] 25.24 52.89 ( 0.62)
6 /5 10 B % B2 FHEG 08 2 25.93 52.92 ( 0.64)
1 /8 1/ E g —# ERERHAR 07 ==) 25.41 53.19 ( 0.6b)
8 /718 Il KiI BE FivErh 06 3 25.50 54.49 ( 0.64)

SEIKO Page: 1/1 Printing: 2021/08/19 12:56:17



